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ADVANCE.HINDI

Full Marks : 100

Pass Marks : 30

Total number of Pages - 8

'1,x12= 12

* 2x6 =12
* 2x4= 8

* 2x2= 4

* 4x2= 8

* 4x2= 8

* 4x3 =12

" 4x3=12
6x4 = 24

Total= L00

Time : Three hours

The fisures in the margin inilicate full marks

for the questiotts'

Q. No. 7 carries 7 mark each

Q. No. 2 carries 2 mnrks each

Q. No. 3 carries 4 marks each

Q. No. 4 carries 6 marks each
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1. firqFe[qa ]N-if + Etr{ {ui er+q i *tqq : 1,x12=12

(q') 'qna qflaqr'ffi q,l+dr t?

(€) oTrgf{fr fr{r f*.q *-qffi *1 e-rr qror tl

(',T) 'frqq q1q1' ql eT?i wr tz

(q) 'fiqrfr 61 qfYwq' qrrr.F m.l*dr t*u arE Efd t s{ld t?

(9 'qmq ynfr' fikdr d q,B fff+,{ fr i ffi ffrrq qqrqr }:

(q) qnzfl qCrr rrzfi *. r+qr*n st{ t ?

(6) rnw( qd"r q,rf *' vnm t i

(q) qrg[-( ErC"r + afr qr qrq Hr er ?

(e) insr dt *tq Q z

(e) rrfi E$m & qfr qil T'q wr qt?
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(z) tq lsri irfrR * t?

(ts) 'qmr' ffi *,,6t t?

2. f{trTfufud, qrii * ym {fwq :

Elug-t5'

(ffi d: eqql *- ra-r *fq9 2x6=12

(Et') 'g(<t i qh t t firqr oTR{-gr q.r fr {ff,trst'-eil{rq wu ffir

(u) 'yerq Clpif *'s'q6n't q"lq *rr v{flr G tZ

(rr) 'tt qrd t t{ffiil sq sr.rt 6r qrfrl' t rcfuzi Brr qE{T q6fr t?

(q) 'fuqi g:u lrerT d' sflTf,r d 'rgvnor' {rq d rfrq eref d q+ar frqr
ti

(s) q,fq qfr{ fr +si dH Efir qrEA t?

(q) 'err*'Te t vrdrrd d ss rT{rm'qqwr ft1 arM'-nqa vFm * unr qfr
*rr sE{r qrtrdr tz

(s) '$i xrq rfr G;qr qr f+.rf, q6'-r1-q se 41fqq r

(q) frq i *tq-qr srqC f+qr qr ?
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(q) dq|qilfi riqqq sl stntT vt *qr eqrq EI {2 'q-aq Yrifr' {frfs 6F{dr

*' anqn qt ftlluq t

ETEg-ET

1ffi zrr{ wi # rrr deq')

(q;.) ,58 sFr qH y{q t, 3.{ci1 q,?isfrr srJ(Rd fr fr t'fr x,'-1a5qi fsq

vqTr fr qEI eIT ?

(€) 'vtA {r{ o.T fi{d Etdr tt'- q{rq ss qifrqt

(r) rrFF{ 6rd"r q1 {lTf<$ di oerrqr t z

(q) nqfr +tq 'fr Z

(e 'vffr *1 aq'rq fqqrqq # Tfi t l'- s{rq se qlfdq r

(q) wrifi qr afr e} *rs,+ sa qI?

EIUg-TT

1ffi A w-di # rrr dfuO 2x2=4

(q,) e# i rcqn qdri q1 q.qr ffi ffi ?fi?
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(u) 'E-cif t qrdr q-fla rd, qr<

fr'S t sr+*I i9 *r =rfrt'

- nfi eq{-{ri i tst +if q-a?

(rr) 'tdr qt tdl Tfi ftql qsdr'-sTwrq sg *lfqqt

3. trqiofoa Yrit * st-t {fqq :

lgsc_if,.

(ffi dl vri * rar d&s) 4x2=8

(q-) 'qr+e 66' +f+m + Am qfu'ft451' q1 {A{r t{T qrdA t?

(E) 'riqft qt erfq{rq' 6i{d'r *. 3rcm q{ 
'iitrT'0 

q1 qRf'-+. fr'ts-dpif q{

Y-+rqr etfuqt

(rr) {6ra* sci i {q * e-(a gs +1 eif qrer tU e,s 41fuSt

EUg_EI

(ffi d e'rai # rf,{ dfd@ 4x2=8

(4) {rqcrdr rqqr *. qkd c{ v-+ivr qfuqt

(E) q6-{ q{q rTe6 * enqR q{ qr(d +- {6q gd-dl 6I tur uqa +ituqt

(r) o-$ qt{ 
'n? 3qi '1{rw'{ 

qdui q1 qrt t*-€ 66 a-a( fr?
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€uc-:T

(W dh yri # rar E?z?q, 4x3=72

(6) rnr sr6q a1 qrRfr-*. ffisdrcn m s&o +1frqr

(E) {Fn ri'lu{ rrE *l efr*-furq qifrqr

(r) e$m el fq tm qftFerfadf n gi fr, s'g *itwqr

(s) eqqteT{ * qqqr ql qarcir e1\urGna e1frqr

(9 '{d a$frqT{'swqrs'a1 qrq,rrd ffisdr3if w y*lvt €rfuqr

EIrg-q

1fiafufud crd # rf,{ dftgl 4x3=rz

(6) {s q1 qftqrqr tt gq ZqR srrJdIet{ tg q.l {fff6{sr qfuqq <TqqI

(€) sraifiR ffi *-6t tZ scqr ,irgr+rv$q ereqn *r <tqr6{qr qR-{q {fqqr

(rr) 6< ffi y-*n + dt t? rltrAq dfqqt

' 4. ffi€fur v{n + fir {fqS : 6x4=24

(6) 'Eqs r6q1'qi+il fi qrdrei es *1fqqr

qEdr

qqqiml v$E i ,{t-rd-dd q1 qF6qr qr qsh fq-q ac6 t isqr t? qfdd 6f{dr

* eTrqR q{ €cE Blfqq r
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(g) 'i{rgrt qdul' qr-fi *' enqn v{ {IEIT qrgn qdTr * Erfril€ qt FsM
srieq r

'rTrcs-r ffi1' il&r sT gt[q Hr t u se qfrfqq

(T) rqrffi *. qae s1 sfdgr qtqr'ffi arqffir Brrrrrcr qr st{q tr'Eq
t5'21?T Sr grg $Tftq I

lrrfi oEffi' 3Irqps d sqqrfiR T<r*riile eqf ilmretq {rqifffi
fifiprfrrdr qr qrwk* t+* rqa *.ri d +d r+'q$eT Eq t? rqu qifqq r

(q) 'rrfr oq*Er{'sq-qrs * enqn q( Esffi d qrRff,*. f{frq-dtett q.l qR-qq

qrf.{q r

a{uar

ss +1Hq td''{rfi eqffi'tsqetrcT En frsq qRnplftrdf fr qrcq t ars,i
q1 iwn tfr tr

x-
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